Skill check:

-32n+1) +7=-5







skill check:

EA 455-foot fence encloses a pasture. What is the
iIenth of each side of the pasture?

3x ft

x ft 1.5x ft

180 ft



1-3 solving equations
with variables on both sides

X

Set the perimeter = to the area







"
2  ACTIVITY: Surface Area and Volume

Work with a partner.

e Each solid has the unusual property that the value of its surface area
(in square inches) is equal to the value of its volume (in cubic inches).
Write an equation for each solid.

e Solve each equation for x.
e Use the value of x to find the surface area and the volume of each solid.
e Describe how you can check your solution.

a. ' b.




EVLINRNIE  Solving an Equation with Variables on Both Sides

Solve 15 - 2x = ~7x. Check your solution.

15-2x=-7x Write the equation.
( Undo the subtraction. }—» +2 +2& Addition Property of Equality

15==5x Simplify.

o Check
T 15 _ -5x Division Property
Undo the multiplication. ] =L
( p -5 -5 of Equality 15-2r=-7x

3=y Simplify. 15 - 2(~3) £ ~7(-3)

2+ The solution is x = -3. =2



|

FOVTINADE  Using the Distributive Property to Solve an Equation

Solve ~2(x - 5) = 6(2 - %x)

-2(x-5)= 6(2 - %x} Write the equation.

-2x+10= 12-3x Distributive Property
o ( Undo the subtraction. }—» +3x + 3x Addition Property of Equality
x+10= 12 Simplify.
[ Undo the addition.}—» =10 -10 Subtraction Property of Equality
x=2 Simplify.

<+ The solution s x = 2,



Practice:

1) -3x=2x +19

2) 25y +6=4.5y -1

3) 6(4 - 2) =22




Skill Check:

1)m-4=2m

2)3k-1=7R+2




1 question Formative assessment

-4(2x +9) + 3x =6 - 4(x - 3)



Solve3 — 4x = -7 - 4x.
3-dx=-7-4x Write the equation.
[Undo the subtraction.}—» + 4x + 4x Addition Property of Equality

=-7 X Simplify.

i+ The equation 3 = -7 is never true. So, the equation has
no solution.

When solving an equation that has infinitely many solutions, you
will obtain an equivalent equation that is true for all values of the variable,
suchas =5 = -5,




What do you think the equation would look
like graphed????




EXAMPLE (/) Solving Equations with Infinitely Many Solutions

Solve6x+4=4[§x+l).

bx+4= 4[%x + 1] Write the equation.

bx+4=6x+4 Distributive Property
Undo the addition. -6xr -6x Subtraction Property of Equality
i=4 Simplify.

+ The equation 4 = 4 is always true. So, the equation has infinitely
many solutions.




What do you think the equation would look like on a graph??

Y
BN

M
N




@ On Your Own
Salve the equation.
6 2+l=2-1 5 é{sr-n-sr-z

1 2(, |9 .
6. b+9) §(b+5) 7. 65-20)=-4(30+ 1)




EXAMPLE (5 B T T 1 —

The circles are identical. What is the area of each circle?
@) 2 4 © 167 (D) 64r

The circles are identical, so the radius of each circle is the same.
x+2= 2x  Write an equation. The radius of the purple circle is 4% = 2.
- - x  Subtraction Property of Equality

2=x Simplify.

Because the radius of each circle is 4, the area of each circle is
7’ = 7(4)* = 16m

»+ So, the correct answer is (C).




Practice continued

3.)1/3(2b +9) = 2/3(b + 9/2)

4.) 6(5 - 2v) =-4(3v +1)













EXAMPLE () SUCEIRN CRVTE)

A boat travels x miles per hour upstream on the Mississippi River. On
the return trip, the boat travels 2 miles per hour faster. How far does

the boat travel upstream?
() The speed of the boat on the return trip is (x + 2) miles per hour.
D pegput ) )
Distance upstream = Distance of return trip
Ix=25(x+2) Write an equation.
3x= 25x+5 Distributive Property
=25x =25 Subtraction Property of Equality
05x=5 Simplify.
% - % Division Property of Equality
x=10 Simplify.

- The boat travels 10 miles per hour for 3 hours upstream.
So, it travels 30 miles upstream.



